Ml 2ol &F AF &2 Al A
20082 =& 1 3 LBt
SA: RS
& 500 Ex 3
2 510 =18 X32S
& : 511 2 NEX3ES (S &SA)
SN-E-B-B2 0l &k o4 p[E-E" HnE2
= Al 2,569,491 1,874,687 694,804
EENpaE=ans 2,569,491 1,874,687 694,804
500 2= 2,569,491 1,874,687 694,804
510 = 0EBX3S 2,252,741 1,858,355 394,386
511 =18 X3S 2,252,741 1,858,355 394,386
511-01 = 1EX3 820,741 426,355 394,386
OLNEEIEH &0 BA2(s0{2) 378,220 19,840 358,380
OnssdsEd 20 B43(N9ad) 63,770 61,515 2,255
OMHAIE L A& SSOHHE XA 33,751 0 33,751
520 Al,SHIEZXS3SS 316,750 16,332 300,418
521 Al - SHIEXZ2S 316,750 16,332 300,418
521-01 Al - SHIEXSS 316,750 16,332 300,418
OHLZBLUMASEX(MH, SH ST 2AFST) 60,000 0 60,000
OEL2 =8 EZAY 22,050 0 22,050
O 2HSE HAAEMEALS 3,000 3,132 A 132
OdHAZHE HIIANL & 2,700 4,200 A 1,500
OJA=012 2 Xt StOtES=H AL X & 10,000 0 10,000
OSLHEIN F=xHE =& 200,000 0 200,000
OJob Festival =l 10,000 0 10,000




N & o & AF &2 H Ml A
20088 =& 1 2l LBtaH
fAM: ZHIED
g N3N 2483 =
ol MR BAE AIMER (Ero: &)
SAN-ZH-SA(FA) - NFAY - BES Off &+ oM JIEH Hns2
5,437,826 4,837,099 600,727
= 820,741 426,355 394,386
s 1,432,000 1,432,000 0
SHasH = 241,962 0 241,962
S 316,750 16,332 300,418
Al 2,626,373 2,962,412 A 336,039
NABH edst =& 2,676,289 2,450,251 226,038
= 33,751 0 33,751
s 1,432,000 1,432,000 0
S 209,000 9,000 200,000
Al 1,001,538 1,009,251 ANT,713
23,190 24,440 A 1,250
NAHR S5 ABED & 1,000 1,000 0
Al 22,190 23,440 A 1,250
BUY-GIMHAE2 &S =& 10,280 11,200 A 920
202 O4dl 6,480 7,200 AT20
01 =3UWHbI 6,480 7,200 AT20
OZNgagd JdRFIAHLH(EZ =) 3,780 4,200 A420
OZHEZ AMHFXHH(ZE)(BL=2) 2,700 3,000 A300
203 HRF&H 1,800 2,000 A 200
03 AMELDREZY] 1,800 2,000 200
ONSAMELFAUEN HRETH(BY
Z) 1,800 2,000 A 200
ANy as OHHE S0 4,590 5,340 AT50
201 ZEH2EH| 4,590 5,340 AT50
01 AtR2cldl 4,590 5,340 AT50
OEE 23 M (EL=2) 750 1,500 AT750
ER LEHEAY 22F 6,320 5,900 420
301 ptsazg 420 0 420
10 SAAHIENS 420 0 420
OXEASALA S41d| 420 0 420
68,826 30,560 38,266
THeHAI R 2 St = 33,751 0 33,751
Al 35,075 30,560 4,515
THEHAI & & A5} 18,100 18,200 A 100
203 HRF&H 900 1,000 A100
03 AMFAARFXY| 900 1,000 A100
OMHAZE LA #MFN JRF=TH|(E L
) 900 1,000 A100
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THEHAI R BAB NG ALY 11,050 12,360 A1,310

201 Lpt2d] 4,960 5,060 A100

01 Atz 4,960 5,060 A100
OXQl 9AINNE U MEWSE LA (E

22) 900,000 900 1,000 A100

301 LprAZ 3,840 4,800 A 960

12 JlEtRA2 3,840 4,800 A960
OSLETHHAIR st IR BAS (AR

) 3,840,000 3,840 4,800 A960

307 QI2HOIA 2,250 2,500 A 250

02 DINBAEZE 2,250 2,500 A250
OMHAIE 2L+EHIES L BESH X

(H2L2) 2,250,000 2,250 2,500 A250

39,676 0 39,676

ANEZIS A = 33,751 0 33,751

Al 5,925 0 5,925

307 QIZHo| A 39,676 0 39,676

= 33,751 0 33,751

Al 5,925 0 5,925

02 DIZAAMELZE 39,676 0 39,676

OMANAIE L A SSOHE A X 39,676 0 39,676

= 33,751 0 33,751

Al 5,925 0 5,925
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= 1,432,000 1,432,000 0

THRHAIZ AlE B3 c 200,000 0 200,000

Al 706,720 705,200 1,520

1,400,000 1,400,000 0

ATHAHAIR DEOIE HE(2D) z 1,000,000 1,000,000 0

Al 400,000 400,000 0

401 Al&HIL 2 Y| 1,400,000 1,400,000 0

= 1,000,000 1,000,000 0

Al 400,000 400,000 0

02 AlAI& A 155,000 0 155,000

OXHTHHAIZ BLEOIE AAIEHA

155,000,000 155,000 0 155,000

o 93,000 0 93,000

Al 62,000 0 62,000

03 EX0HHI 481,500 0 481,500

OX&EE B4 481,500 0 481,500
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SA-E . S(E) - MEAY - BES O & o4 pJE-T SImE=ET
P 288,900 0 288,900
Al 92,600 0 192,600
04 A&EHI 753,500 1,400,000 A646,500
OMSMHAIY SLOE AE 753,500 1,400,000 A646,500
s 618, 100 1,000,000 A 381,900
Al 135,400 400,000 A 264,600
06 Al&=01YI 10,000 0 10,000
ONSTMAAIE ZHOIE HE A2
10,000,000& 10,000 0 10,000
AR ASBOS A EX 8,820 7,000 1,820
201 et 3] 2,520 0 2,520
01 AtR2teld] 2,520 0 2,520
OANESUHIIMNG FLE2E A&+
70,000 » 6 32| » 20HAIH 2,520 0 2,520
203 YRF=&d| 1,800 2,000 A200
03 AIMFAHRFXY| 1,800 2,000 2200
OMUAE ALHUSANYEH A2ETY|
(B22) 1,800 2,000 A 200
401 AIEHI =0 4,500 5,000 A500
06 Al&Z=0i4l 4,500 5,000 A500
OMHAIZ AISBOHSIAIZ AL S OHHI (2
Z&) 4,500 5,000 A500
McHAIE A8 7X 2tel 9,900 10,200 A 300
201 LEHREH| 9,900 10,200 A 300
01 AtR2cldl 6,900 7,200 A 300
OMAE ALK Z2H(22L)
900,000& * 30H 24 2,700 3,000 A 300
200,000 0 200,000
SUNEI EXT 2
L= 200,000 0 200,000
401 AIEHIZL =0 200,000 0 200,000
L= 200,000 0 200,000
02 A AIEAbI 6,000 0 6,000
OSLAEI F=IHES AL AAEH 6,000 0 6,000
S 6,000 0 6,000
03 EXI0HH 194,000 0 194,000
OSLaEI} =X EX0HE 194,000,000 194,000 0 194,000
= 194,000 0 194,000
136, 140 138,340 A2,200
DA S S 8,000 8,000 0
Al 128,140 130,340 A2,200
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307 Q20| 16,000 16,000 0
02 DIZHAAEX 6,000 4,000 2,000
OAHIZILE AA N (SHSHY) 2,000 0 2,000
05 QIZIRES 10,000 12,000 A2,000
OAHIXINE AA N (SHSHY) 0 2,000 A2,000
He| B A 18,166 20,184 A2,018
101 Q4] 4,126 4,584 N458
10 JIAMZ2ASES 4,126 4,584 N458
OHEI HIAAQE 1A (B2LE) 4,126 4,584 458
201 L2y 14,040 15,600 A1,560
01 AtR22/H 14,040 15,600 A 1,560
OHEI HINZEA & $22AY SAES
oIMHI(B2E) 2,250 2,500 A250
OAHEIl HIIZA EL S49 MH(ZZ
=2) 990 1,100 A 110
OHEI HIIZA BHl L e X2 (E
22) 10,800 12,000 A1,200
HIUX otd & B2 W 694,319 653,526 40,793
=2 345,000 345,000 0
< 87,750 7,332 80,418
Al 261,569 301,194 139,625
694,319 653,526 40,793
= 345,000 345,000 0
Ui Al el < 87,750 7,332 80,418
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JbA QLA 22 5,856 6,740 A884
201 L2y 2,976 3,540 564
01 AtR22/H| 2,976 3,540 N564
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SAH(EZE) 1,29 1,440 A 144
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22) 1,000 1,250 A250
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202 04l 2,880 3,200 A320
01 ZUHoil 2,880 3,200 A320
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201 gty 1,625 3,250 A1,625
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—-ANEUF IR (BL2) 975 1,950 N975
206 M2l 1,836 2,040 A204
01 M2t 1,836 2,040 A204
Os KR ZRAA A2RY 1,836 2,040 A204
-FHER(BZE) 648 720 AT2
-ZdR(ELE) 1,008 1,120 AT112
-SR(EAR) 180 200 A20
AT K 23 A 2,500 3,400 A900
201 LBt 2,500 3,400 A900
01 AtR22/H 2,500 3,400 A900
OHYZ JI2S SXH(BLL) 700 1,400 AT00
OATHAOILUX S22 I M (=Y 1,800 2,000 2200
572,900 573,000 A100
= 345,000 345,000 0
ATHMUHX SSAIS (EHLZLEAL &X
< 60,000 0 60,000
Al 167,900 228,000 A60,100
401 AlZHIYL 20 572,900 573,000 A100
= 345,000 345,000 0
= 60,000 0 60,000
Al 167,900 228,000 AB60,100
04 Al&HI 572,000 572,000 0
OEHSZUMAL X (AN, HSHSE
AF A F) 572,000 572,000 0
= 345,000 345,000 0
< 60,000 0 60,000
Al 167,000 227,000 60,000
06 AlZ=0idl 900 1,000 A100
OB LZUMA LA (AN, HEFLF,
HOUF AT (BAR) 900 1,000 A100
37,868 38,000 A132
OAR2H S JHAANAE HEAZBAHEHI) = 3,000 3,132 A132
Al 34,868 34,868 0
401 AlEHIZ 20 37,868 38,000 A132
< 3,000 3,132 A132
Al 34,868 34,868 0
04 Al&HI 37,868 38,000 A132
OOH2HS IHAANE ML SA 37,868 38,000 A132
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< 3,000 3,132 A132

Al 34,868 34,868 0

25,596 27,096 A1,500

HHS2HSHIAL BA(ZHI) LS 2,700 4,200 A1,500

Al 22,896 22,896 0

206 M2l 7,700 9,200 A1,500

[ 2,700 4,200 A1,500

Al 5,000 5,000 0

01 M2HI 7,700 9,200 A1,500

OO0lA2H 5 HIIAE He MHEH 7,700 9,200 A1,500

< 2,700 4,200 A 1,500

Al 5,000 5,000 0

46,138 0 46,138

BNz 23 A (SHI) < 22,050 0 22,050

Al 24,088 0 24,088

402 BIZHRE0|H 46,138 0 46,138

< 22,050 0 22,050

Al 24,088 0 24,088

01 QIZtR=EX 46,138 0 46,138

OHZFe 84X XA 46,138 0 46,138

< 22,050 0 22,050

Al 24,088 0 24,088

axtel =W NEOHE 1,949,901 1,637,900 312,001

=2 441,990 81,355 360,635

= 241,962 0 241,962

[ 20,000 0 20,000

Al 1,245,949 1,556,545 A310,596

86,241 79,791 6,450

x| UM < 10,000 0 10,000

Al 76,241 79,791 A3,550

AXtel L& HR 2 47,741 48,791 A1,050

201 L2y 35,450 36,300 A 850

01 AtR22/H 35,450 36,300 N850

OLRxiel L&A= 2| 12,650 13,500 N850

—UTeILN MAAREH(B2LR) 3,600 4,000 A400

- FOURE AFHAM HE(EAE) 1,800 2,000 A200

—dXelILE ARSEH(BAR) 2,250 2,500 A250

203 Y=l 1,800 2,000 A200
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03 AIMFAHRFAH| 1,800 2,000 2200
OFXE & LXel&E J2FH (B2

) 1,800 2,000 2200

38,500 31,000 7,500

ol FYLHHE 29 & 10,000 0 10,000

Al 28,500 31,000 A2,500

201 LErEgH| 38,500 31,000 7,500

< 10,000 0 10,000

Al 28,500 31,000 A2,500

03 #AL2EHI 37,500 30,000 7,500

OJob Festival Mz (B2 =) 32,500 25,000 7,500

= 10,000 0 10,000

Al 22,500 25,000 A2,500

1,050,179 1,057,179 AT7,000

DoAY =X = 241,962 0 241,962

Al 808,217 1,057,179 N248,962

1,047,179 1,047,179 0

DDA AY =X = 241,962 0 241,962

Al 805,217 1,047,179 A 241,962

101 el H] 1,043,579 1,043,579 0

= 241,962 0 241,962

Al 801,617 1,043,579 A241,962

10 JIZH22AsSEs 1,043,579 1,043,579 0

O=32=2 At 22| 1,043,579 1,043,579 0

= 241,962 0 241,962

Al 801,617 1,043,579 N241,962

HUEAQIY =X 3,000 10,000 27,000

101 el 3,000 10,000 AT,000

10 JIZHZ2Z2NSES 3,000 10,000 A7,000

OFAEUXNFMEZZ O (EZLE) 3,000 10,000 A7,000

DENFNHZHE 15,689 15,200 489

2| EEAME 15,689 15,200 489

201 LErEgH| 1,009 3,200 A2,191

01 AtR2teltl 1,009 3,200 n2,191
oLl IRF2A oHl(SHSH

3) 1,009 3,200 A2,191

202 O 2,880 0 2,880

01 2LHHHI 2,880 0 2,880
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03 AMFAHRFAAY| 1,800 2,000 A 200
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oA = 441,990 81,355 360,635
Al 265,942 316,475 A50,533
378,220 24,800 353,420
HolXdAad Tz Eed(=2D) = 378,220 19,840 358,380
Al 0 4,960 A4,960
UBEAF 378,220 24,800 353,420
= 378,220 19,840 358,380
Al 0 4,960 A4,960
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Al 0 4,960 24,960
79,712 123,030 N43,318
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Al 15,942 61,515 A45,573
301 ptsaazg 79,712 123,030 N43,318
= 63,770 61,515 2,255
Al 15,942 61,515 A45,573
10 AIAHIE&= 79,712 123,030 N43,318
OLNE=EMEH 0 243 79,712 123,030 N43,318
= 63,770 61,515 2,255
Al 15,942 61,515 N45,573
89,860 87,900 1,960
222X =X StA = 10,000 0 10,000
Al 79,860 87,900 /8,040
CsXEE K& 9,100 10,500 21,400
201 ZEH2EH] 3,600 5,000 1,400
01 AtR2tcldl 3,200 4,600 21,400
O MEES &M 2 (H2ZE)
70,000& * 108 * 23| 1,400 2,800 A1,400
LH=2Ql 22X =X &tat 28,360 29,400 A 1,040
201 B2 EH] 360 400 A40
01 AtR2teld] 360 400 A40
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